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Code No. : 9154 Sub. Code : KBAM 23/ Capjital Strueture
PBAM 22 Financial Plan Finaneinl Plan
{4) Rs. (A) Rs.
MASTER OF BUSINESS ADMINISTRATION (CBCS) Bauity , 5,000 lru-ﬂﬂﬂ
DEGREE EXAMINATION, APRIL 2019, Debt (Cost 10%) 15,000 5,000
Total 20,000 20,000
Second Semester Or
Business Administration — Core () From the following information, you are
required to prepare balance sheet:
TR A N f s AT a =
FINANCIAL MANAGEMENT Current ratio s 1.75
(For those who joined in July 2016 and afterwards) Liquid ratio = 125
ST . - Stock Turnover ratio
Time:: Three hioust Maximum : 75 marks (Cost of sales/closing
4 —_ {.]
PART A — (10 » 1 = 10 marks) stock) : .
Gyoss Profit ratio = 25%
Answer ALL questions, Nebt Collection period = 1% months b
0] I » . Reserves and surplus to
'hoose the correct answet: Capital = 0,2
1.  The return after the pay-off period 1s not Turnover to Fixed Assets = 1.2
considered in case of : Capital Gearing ratio = 0.6
(a} Present value index method Fixed Assets to Net
Worth = 1.256

(b) Internal rate of return methed
(¢} Pay-back method
(dy All of these |

Sales for the year = Rs. 12,00,000
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L}

is the relationship thal exists
between the present values of net eash inflows and
present value of cash out flows,

(n) Cost of capital
(I Proficability index
e} Leverage

(dy Capital Structure

Operating cvele ean be shortened by inereasing
ta) Credit period to the customer

(b} Duration of credit availed

() Manutacturing time

(d) Marketing cost

Current Asset over the current liability 18 known
s

(a) Gross Working Capital
(by Net working Capital
{ch Total Asset

{dy Stock

refers to makeup of the firms

capitalization,
(by Total Assels
(d) Capital Structure

(a) Cost of capital
(e} Total Liabilities
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6.

-1

10.

vefers to the valuation of the total
business,
(b} Leverage
{cdl) Fixed asset

The power to declare dividend vests completely
with

(n) Capitalization
{¢) Capital structure

(b} Board of Directors
{d) Financial manager

(a) Secretary
ie) CEO
Which of the following methods does a firm resort
to avoid dividend payments?

{a) Share snlitting

{by Declaring bonus shares

ey Rights issue

(ely All the above,

are a Financial Contracts which
solve the primary purpose of hedging the asset
price fluetuation,

{n) LKguity shares

{b} Preference Shares

() Derivatives Instruments
(ely Mutual lunds

The satisfactory ratio between internal and
external equity is

(ny 1:1 (b) 2:1
¢y 3:1 ey 4:1
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PART B — (5 = 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b). You are required to estimate the working
i ignets e B @) ) capital requirements for the year 2008.09
11. (a) Write a brief note on scope of finance function. assuming a linear velationship between sales
; and working capital.
D "
3 s Dja.
(b) A project cost Rs. 5,00,000 and yields anlI:Ell}' L (b) List out the advantages adequate working
a profit of Re. B0,000 after depreciation capital.
@ 12% p.a. but before tax of 50%. Calculate
the payback period. " 13. (a) Describe the features of equity share capital.
Or
12, (a) The following information as been provided by ) . l
2 company for the year ended 30/06/2008 (b) What are the features of Optimal Capital
- o
Linbilities Ra. Assets Rs. Sbrudburet
Eguity Share 200,000 Fixed Assets less 3.00,000 14, (a) Brieflv explain the forms of dividend poliey.
Cupital Daprecintion Or
8% debentures 100,000 Inventorios 100,000 :
Reservesd 50,000 Sundrv Debtors 70,000 (t) The following information is available in
Surplus respect of a firm:
:.cmg Term 50,000 Cash and Bank 10,000 Capitalization rate (ke) = 0.10
':;:::;rv 80,000 Earnings per share (5} = Ra. 10
ereditors | Assumed rate of return on investments (¥) :
Show the effect of dividend poliey on the
= o £ 142 v
E:‘i;f ﬁﬁltélg gg;l;r::ﬁi‘:il i‘:ﬁg‘::;“;i;‘:;?;:iii market piece of shares, using Walter’s model,
8. Rl R
same will amount to Rs. 12,00,000 for the year | 15. (a) The following information are given for
9008-09. two companies,
X Lud Y Lid
Units produced and 17,000 17.000
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Revenues Ra. 1,70,000 Rs, 1,70,000
Fixed costs 85,000 34,000
Operating income 51,000 31,000
Variable cost 44,000 &5, 000

Find out the Break-Tiven point of each
company both in units as well as in volume,

Or
(h) The following figures relate to two companies:

Particulars P Ltd, G Lid.

{Rs, in (s in

Lalkhs) Lalkhs)
Sales a00 1,000
Variable Costs 200 300
Contribution 300 700
Fixed Costs 150 400
EBIT 160 300
Interest al 100
Profit before tax 100 200

You are required to calculate the operating,
financial and combined leverages for the two
companies,

PART C — {5 % B =40 marks)
Answer ALL questions, choosing either (a) or (b).

16. (a) The Alpha Co. Lid., is considering the
purchase of a new machine. Two alternative
machines (A and B} have been suggested, each
having an initial cost of Re. 4,00,000 and
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requiring Rs. 20,000 as additional working
capital at the end of 1% vear, Earnings after
taxation are expected to be as follows:

Yonr Cash Inflows
Machine — A  Machine - B
1 40,000 1.20,000
2 1,220,000 1,60,000
3 160,000 2,00,000
G| 2,40,000 1,20,000
5 1,60,000 80,000

The company has a target of return on capital
of 10% and on this basis, you are required to
compare the profitability of the machines and
state which  alternative you consider
financially preferahle under the Net Present
value Method?

Note;

P.V. Factor at 10% Year-1 : 0.908,
Year-2: 0826, Year 3: 0.751, Year-d: 0.683,
Year-5: 0,621,

Oy

{b) Given below is the summery of the balance
Sheet of & company as at 317 Decembor-1999

Liabilities Asdgets

Equity Share Fixed Assets 4,00,000
capital

20,000 shares of 200,000 Investments 50,000
Ra. 10 each

Reserves and 1,830,000 Current 2,.00,000

surplus Assets
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L7.

A% Debentures 1, 70,000
{Redeemable at
parin 2004}

Short Term 1, 00,000

Loans

Trade Creditors 50,000 =

Total 4,850,000 3,850,000

You are required to ealculate the company's

weighted average cost of capital using balance

sheet valuations, The following additional
information is also available:

(it B% debenture ware used

(ii) All interest payments are up-to-cdate and
equity dividend is currently 12%

(iii) Shori-term loan earries interest at
18%p.a.

(iv) The rate of tax for the company may be
taken at 50%

(v) The shares and debentures of the
company are all guoted on the Stock
exchange and current market price are
as - Equity Shares Rs. 14 each,
8% Debentures Rs. 98 eagh.

(a) Bxplain the factors influencing the size of
receivables,
Or
() Discuss about the various techniques of
inventory management,
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1t

(a)

(b)

VWhat #are TNe VHAVIOUS  I00E erin Lunas
available to a Indian Business Man? Explain.

Oy

Explain the various theories of capital
structure.

19. (a) Explain the various dividend theories with
related assumptions and criticisms.
Or
(b) Explain the various determinants of dividend
policy.

20. (n) Caleulate operating leverage and financial
leverage under situation 1 and 2 and financial
plans A and B respectively from the following
information relating to the operation and
capital structure of a company. What arve the
combinations of operating and financial
leverage which give highest and least value?

Installed Capacity 2,000 units

Annual production and sales  50% of installed
capacity

Selling price per unit Rs, 20

Variable cost per unit Rs. 10

Fixed Costs;

Situation 1 Ras. 4,000

Situation 2 Rs, 5,000
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